CHEM106 Quiz 1

1. The rate of a chemical reaction is largely governed by its activation energy.  Draw an energy-reaction coordinate diagram.  Label the H and Ea.  Use dotted line to show energetics if a catalyst were added.

2. Two reactions had activation energies of 22 kJ/mole and 5.0 kJ/mole at -50ºC.  Assuming the two reactions had identical collision frequencies, calculate the ratio of the rates of reactions for these two (i.e. how many times faster is one reaction than the other).  Clearly show all equations and your work.

3. We talked a good deal about inactive chlorine in the stratosphere:

a. Identify the two primary forms of inactive chlorine.

b. Show the reactions that cause the formation of each type of inactive chlorine.

4. Provided a detailed explanation for the stratospheric O3 depletion occurring over Antarctica every winter/spring for several months.  Include appropriate reactions and diagrams.

5. Outline the steps that humans have taken to address the stratospheric ozone problem; clearly explain the technical basis for why these steps will work.

